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ÍÛæ̃ Û¶ÛÛ :   (1) ¼ÛµÛÛ ›÷ ¸ÛóÊ¶ÛÛé ºõÁõÜ›÷ýÛÛ©Û ™öé.  
Instructions :  All questions are compulsory. 
    (2) ÜÈÛïõÅ¸ÛÛé …Û×©ÛÜÁõïõ ™öé.  
     Options are internal. 
    (3) ›÷¾Û¨Ûà ¼ÛÛ›ä÷ þùÉÛÛÙÈÛéÅÛ ÍÛ×”ýÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ¸ÛæÁõÛ •Ûä¨Û þùÉÛÛÙÈÛé ™öé.  
     Figures to the right side indicate full marks of questions.  
 
1. (a) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ …éïõ ¸ÛóÊ¶Û¶ÛÛé Š«ÛÁõ …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 10 
  Answer any one of the following questions in about 750 words :  
  (1) …ÛÜ¬ÛÙïõ ÍÛ¾ÛÍýÛÛ…Ûé¶ÛÛ …½ýÛÛÍÛ¾ÛÛ× …Û×ïõ¦øÛïõàýÛ ¾ÛÛÜÐü©Ûà¶Ûä× ¾ÛÐü«ÈÛ Í¸ÛÌ¤ø ïõÁõÛé.  
   Explain the importance of statistical data in the study of Economic 

problems.  
  (2) ‘›÷é Ý¼Ûþäù…é Š¸Û½ÛÛéî©ÛÛ¶Ûà ©Û¤øÍ¬Û Áéõ”ÛÛ¶ÛÛé §øÛÇ ©Ûé¶Ûà ¼Û›÷é¤ø Áéõ”ÛÛ¶ÛÛ §øÛÇ ¼ÛÁõÛ¼ÛÁõ ¬ÛÛýÛ 

©Ûé Ý¼Ûþäù…é Š¸Û½ÛÛéî©ÛÛ ÍÛ¾Û©ÛäÅÛÛ ¸ÛóÛ¸©Û ïõÁéõ ™öé.’ – ÍÛ¾Û›ÛÈÛÛé.  
    ‘A consumer is in equilibrium at a point when slopes of both indifference 

curve and budget line are same.’ – Explain. 
 (b) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ …éïõ ¸ÛóÊ¶Û¶ÛÛé Š«ÛÁõ …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 4 
  Answer any one of the following questions in about 125 words :   
  (1) ½ÛÛÁõ©ÛàýÛ …¬ÛÙ©Û×ªÛ¶ÛÛ ˜ÛÛÁõ ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé.  
   Explain the four features of Indian economy.  
  (2) …¬ÛÙÉÛÛÍªÛ ÜÈÛßÛÛ¶Û ™öé ïéõ ïõÅÛÛ ïéõ ¼Û×¶Ûé ? ÍÛ¾Û›ÛÈÛÛé.  
   Is Economics an Art or A science or both ? Explain. 
  (3) ‘PQLI’ ÜÈÛÉÛé ¶ÛÛêµÛ ÅÛ”ÛÛé.  
   Write a note on ‘PQLI’. 
 
2. (a) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ ¼Ûé ¸ÛóÊ¶Û¶ÛÛ Š«ÛÁõ …ÛÉÛÁéõ 100 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 6 
  Answer any two of the following questions in about 100 words :   
  (1) ½ÛÛÁõ©ÛàýÛ …ÛýÛÛé›÷¶Û¶Ûà ¾ÛýÛÛÙþùÛ…Ûé ÍÛ¾Û›ÛÈÛÛé.  
   Explain the limitations of Indian economic planning. 
  (2) ¸ÛäÁõÈÛ¥øÛ¶Ûä× ÜÈÛÍ©ÛÁõ¨Û-ÍÛ×ïõÛé˜Û¶Û …ÛïèõÜ©ÛÍÛÐü ÍÛ¾Û›ÛÈÛÛé.  
   Explain with diagram extension-contraction of supply. 
  (3) ›÷¾Ûà¶Û¶ÛÛé …¬ÛÙ …Û¸Ûà ©Ûé¶ÛÛ× ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé.  
   Explain the term ‘land’ and state its features. 
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 (b) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ …éïõ ¸ÛóÊ¶Û¶ÛÛé Š«ÛÁõ …ÛÉÛÁéõ 500 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 8 

  Answer any one of the following questions in about 500 words :   

  (1) ¾ÛÛ×•Û¶ÛÛé Ü¶ÛýÛ¾Û …ÛïèõÜ©ÛÍÛÐü ÍÛ¾Û›ÛÈÛÛé. 

   Explain with diagram the Law of Demand. 

  (2) ”ÛÛ¶Û•ÛàïõÁõ¨Û …¶Ûé ŠþùÛÁõàïõÁõ¨Û ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 

   Write note on Privatization and Liberalization. 

 

3. (a) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ …éïõ ¸ÛóÊ¶Û¶ÛÛé Š«ÛÁõ …ÛÉÛÁéõ 750 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 10 

  Answer any one of the following questions in about 750 words : 

  (1) ÐüÜÁõýÛÛÇà ’õÛ×Ü©Û …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ× –Û¤øïõÛé ÍÛ¾Û›ÛÈÛÛé.  

   What is green revolution ? Explain its different components. 

  (2) ¾ÛµýÛÍ¬Û ¼Ûêïõ ïõÛé¶Ûé ïõÐéüÈÛÛýÛ ? ©Ûé¶ÛÛ× ïõÛýÛÛë ˜Û˜ÛÛë.  

   What is Central Bank ? Explain its different functions. 

 (b) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ …éïõ ¸ÛóÊ¶Û¶ÛÛé Š«ÛÁõ …ÛÉÛÁéõ 125 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 4 

  Answer any one of the following questions in about 125 words :  

  (1) ÁõÛ.…Û.¶ÛÛé ˜Û’õàýÛ ¸ÛóÈÛÛÐü …ÛïèõÜ©ÛÍÛÐü ÍÛ¾Û›ÛÈÛÛé.  

   Explain with diagram circular flow of national income. 

  (2) ¶ÛÛ¨ÛÛ¶ÛÛ× ¾Ûä”ýÛ ïõÛýÛÛë ÍÛ¾Û›ÛÈÛÛé.  

   Explain the main functions of money. 

  (3) ½ÛÛÁõ©Û¶Ûà ÈÛÍ©Ûà Ü¶ÛýÛ×ªÛ¨Û ¶ÛàÜ©Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé.  

   Discuss the population control policy of India. 

 

4. (a) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ ¼Ûé ¸ÛóÊ¶Û¶ÛÛ Š«ÛÁõ …ÛÉÛÁéõ 100 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 6 

  Answer any two of the following questions in about 100 words :  

  (1) ÍÈÛÛµýÛÛýÛ ¸Û±ùÜ©Û¶Ûä× ¾ÛÐü«ÈÛ ›÷¨ÛÛÈÛÛé.  

   State the importance of assignment method. 

  (2) ¾ÛÛˆ’õÛéÅÛéÉÛ¶Û …¶Ûé ÜÍÛ¾ýÛäÅÛéÉÛ¶Û ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û Í¸ÛÌ¤ø ïõÁõÛé.  

   State the difference between micro-lesson and simulation. 

  (3) ‘ÍÛæ“¾Û ¸ÛÛ¥ø’ …ÛýÛÛé›÷¶Û ¶ÛÛêµÛ ©ÛíéýÛÛÁõ ïõÁõÛé.  

   Prepare a note on micro-lesson plan. 

 (b) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¾ÛÛ×¬Ûà ïõÛéˆ …éïõ ¸ÛóÊ¶Û¶ÛÛé Š«ÛÁõ …ÛÉÛÁéõ 500 ÉÛ¼þùÛé¾ÛÛ× …Û¸ÛÛé : 8 

  Answer any one of the following questions in about 500 words :  

  (1) …ÛµÛÛÁ ¸Û±ùÜ©Û …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ× ÅÛÛ½ÛÛ-ÅÛÛ½Û ›÷¨ÛÛÈÛÛé.  

   What is source method ? State its merits and demerits. 
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  (2) ¶Ûà˜Ûé¶ÛÛ ¾Ûä°ùÛ…Ûé¶Ûé µýÛÛ¶Û¾ÛÛ× ÁõÛ”Ûà¶Ûé …¬ÛÙÉÛÛÍªÛ ÜÈÛÌÛýÛ¾ÛÛ× µÛÛé.-11¶ÛÛé ïõÛéˆ …éïõ …éïõ¾Û 
ÉÛà”ÛÈÛÈÛÛ ¾ÛÛ¤éø¶Ûà …ÛýÛÛé›÷¶Û ¶ÛÛêµÛ ©ÛíéýÛÛÁõ ïõÁõÛé : 

   Prepare a lesson plan for the teaching of any one unit of Std-11 in the 
subject of Economics bearing the following points in mind : 

   (i) ÜÈÛÜÉÛÌ¤ø Ðéü©Ûä…Ûé 
    Specific objectives 
   (ii) ÜÉÛ“Ûïõ¶Ûà ¸ÛóÈÛèÜ«Û…Ûé 
    Teacher activities 
   (iii) ÉÛíé“ÛÜ¨Ûïõ ¾Ûä°ùÛ 
    Teaching points 
   (iv) ïõÛ.¸ÛÛ. ¶ÛÛêµÛ  
    B.B. Work 
   
5. ¶Ûà˜Ûé …Û¸ÛéÅÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ …éïõ ÉÛ¼þù/ÈÛÛîýÛ¾ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé : 14 
 Answer to the one word / sentence of the following questions :  
 (1) ÍÛ×¸ÛÛéÜÌÛ©Û ÜÈÛïõÛÍÛ¶Ûà ÈýÛÛ”ýÛÛ ïõÛé¨Ûé …Û¸Ûà ? 
  Who gives the definition of sustainable development ? 
 (2) 2000-01 ¾ÛÛ× ¶ÛºõÛé ïõÁõ©ÛÛ× ›ÛÐéüÁõ ÍÛÛÐüÍÛÛé¶Ûà ÍÛ×”ýÛÛ ïéõ¤øÅÛà Ðü©Ûà ? 
  How many profit making public sector units in the year 2000-01 ? 
 (3) –Û¤ø©ÛÛ ÍÛà.©Ûä. •Ûä¨Û¶ÛÛ Ü¶ÛýÛ¾Û¶Ûà …éïõ µÛÛÁõ¨ÛÛ ÅÛ”ÛÛé.  
  Write the assumption of the law of diminishing marginal utility. 
 (4) D.F.C.I. ¶Ûä× ¸ÛäÄõ ¶ÛÛ¾Û ÅÛ”ÛÛé. 
  Write full name of D.F.C.I. 
 (5) ÍÛ×¸Ûæ¨ÛÙ ¾ÛæÅýÛ …¶Û¸Ûé“Û ¾ÛÛ×•Û¶Ûä× ŠþùÛÐüÁõ¨Û …Û¸ÛÛé.  
  Give an example of zero elasticity of demand. 
 (6) …¬ÛÙÉÛÛÍªÛ¶ÛÛé µÛ¶Û ÍÛ×¼Û×Ü±ù ”ýÛÛÅÛ ïõÛé¨Ûé …Û¸ýÛÛé ? 
  Who give the wealth related concept of Economics ? 
 (7) G.D.P. …¶Ûé G.N.P. ¶ÛÛ ¸ÛæÁõÛ× ¶ÛÛ¾Û ÅÛ”ÛÛé.  
  Write full name of G.D.P. and G.N.P. 
 (8) ¶ÛÛ¶ÛÛ ¸ÛÛýÛÛ¶ÛÛ …éïõ¾ÛÛé ïõÛé¶Ûé ïõÐéüÈÛÛýÛ ? 
  What is small-scale industry ? 
 (9) ÈÛÍ©Ûà ÍÛ×’õ¾Û¨Û¶ÛÛ ïõýÛÛ ©Û¼Û‘õÛ¾ÛÛ× ÈÛÍ©Ûà ÜÈÛÍºõÛé¤ø ÍÛ›ÛÙýÛ ™öé ? 
  In which stage population explosion in demographic transition ? 
 (10) ¾ÛÛˆ’õÛéÅÛéÉÛ¶ÛÛ ¼Ûé ¾ÛÐü«ÈÛ¶ÛÛ ¾Ûä°ùÛ…Ûé ›÷¨ÛÛÈÛÛé.  
  State two importance point of micro-lesson. 
 (11) ÿ˜ÛÛé ¸Ûó›÷¶Û¶ÛþùÁõ …é¤øÅÛé ÉÛä× ? 
  What is high fertility rate ? 
 (12) ŠþùÛÐüÁõ¨Û¶ÛÛ ¼Ûé ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé.  
  State the  two features of illustration. 
 (13) ¾ÛÛ¶ÛÈÛ ÜÈÛïõÛÍÛ …Û×ïõ¶ÛÛ ¸ÛÜÁõ¾ÛÛ¨ÛÛé ›÷¨ÛÛÈÛÛé.  
  Which are the indicators of H.D.I ? 
 (14) ïäõÉÛÇ Š¸Û½ÛÛéïõ©ÛÛ ïõÛé¶Ûé ïõÐéüÈÛÛýÛ ? 
  Who is efficient consumer ?  

____________ 
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